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tpla cs;slf;fk;  

• 𝑎𝑎𝑥𝑥2 + 𝑏𝑏𝑏𝑏 + 𝑐𝑐 tbtpYs;s Nfhitfspd; fhuzpapd; nka;j; jd;ikia tha;g;Gg; 

ghu;g;ghu;. 

• ,Utu;f;fq;fspd; tpj;jpahrkhff; fhl;lg;gLk; Nfhitfspd; fhuzpfs;. 

 

 7.1 %TWg;G ,Ugbf; Nfhitfspd; fhuzpfs;  

 

 

 

 

cjhuzk; - 1 

𝑥𝑥2 + 7𝑥𝑥 + 10 ,y; eL cWg;ig 10 ,d; ,uz;L fhuzpfisf; Fzq;fshff; nfhzl 

,U cWg;Gf;fspd; $l;lyhf vOJf. 

𝑥𝑥2 + 7𝑥𝑥 + 10  tu;f;f cWg;G 𝑥𝑥2 
khwh cWg;G 10 

ngUf;fk;  𝑥𝑥2 × 10 
 

10𝑥𝑥2 ,d; fhuzpfs;  

   (−𝑥𝑥) × (−10𝑥𝑥) 
10𝑥𝑥2   (+2𝑥𝑥) × (+5𝑥𝑥) 

(−2𝑥𝑥) × (−5𝑥𝑥) 
 

,jd;gb vy;yh ngUf;fy; fhuzpfspypUe;J (+2𝑥𝑥) ck; (+5𝑥𝑥) ck; eL cWg;G 

$l;Lj; njhifahf (+7𝑥𝑥) mikAk;. 

𝑥𝑥2 + 7𝑥𝑥 + 10 =  𝑥𝑥2 + 2𝑥𝑥 + 5𝑥𝑥 + 10 
   =  𝑥𝑥(𝑥𝑥 + 2) + 5(𝑥𝑥 + 2) 

=  (𝑥𝑥 + 2) (𝑥𝑥 + 5) 
cjhuzk; - 2 

𝑥𝑥2 − 6𝑥𝑥 + 9 ,y; eL cWg;ig 9 ,d; ,uz;L fhuzpfisf; Fzq;fshff; nfhzl 

,U cWg;Gf;fspd; $l;lyhf vOJf. 

𝑥𝑥2 − 6𝑥𝑥 + 9 ,y; tu;f;f cWg;gpdJk; khwh cWg;gpdJk; ngUf;fk; 𝑥𝑥2  × 9 = 9𝑥𝑥2 

Rafw;wy; ifNaL 
fzpjk;     juk;-10 

 Nf/nj`p/ept; nghyl;lfk j.tp> tP-Xah> 
   vl;bahe;Njhl;il. 

v];.n[aNjtp - 

𝑎𝑎𝑥𝑥2 + 𝑏𝑏𝑏𝑏 + 𝑐𝑐 vd;w tbtpy; fhl;lg;gLtJ %TWg;G ,Ugbf; NfhitahFk;. 1tJ 

3tJ cWg;Gf;fspd; ngUf;fj;jpd; fhuzpr;Nrhbnahd;wpd; ngUf;fkhf vOJk; NghJ 

mg; ngUf;fkhdJ eL cWg;gpd; $l;Lj;njhifia jpUg;jp nra;Ak; tifapy; 

vOjg;gl;L ngwg;gLk; ehd;F cWg;Gfis nfhz;l NfhitapypUe;J Nrhbfspy; 

nghJf; fhuzpia NtWgLj;Jtjd; %yk; fhuzpfis fhZjy; Ntz;Lk;. 
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9𝑥𝑥2 ,d; fhuzpfs;   

   (+𝑥𝑥) × (+9𝑥𝑥) 
9𝑥𝑥2   (+3𝑥𝑥) × (+3𝑥𝑥) 

(−3𝑥𝑥) × (−3𝑥𝑥) 
(−9𝑥𝑥) × (−𝑥𝑥) 

 

mjd;gb vy;yh ngUf;fy; fhuzpfspypUe;Jk; (−3𝑥𝑥) × (−3𝑥𝑥) ck; eL cWg;G 

$l;Lj;njhifahf (−6𝑥𝑥) mikAk;. 

 

𝑥𝑥2 − 6𝑥𝑥 + 9  =  𝑥𝑥2 − 3𝑥𝑥 − 3𝑥𝑥 + 9 
   =  𝑥𝑥(𝑥𝑥 − 3) − 3(𝑥𝑥 − 3) 

=  (𝑥𝑥 − 3) (𝑥𝑥 − 3) 
cjhuzk; - 3 

𝑥𝑥2 + 4𝑥𝑥 − 12 ,idf; fhuzpg;gLj;Jf. 

𝑥𝑥2 + 4𝑥𝑥 − 12  

𝑥𝑥2 + 6𝑥𝑥 − 2𝑥𝑥 − 12 

𝑥𝑥(𝑥𝑥 + 6) − 2(𝑥𝑥 + 6) 

(𝑥𝑥 + 6) (𝑥𝑥 − 2) 
 

cjhuzk; - 4 

𝑎𝑎 − 3𝑎𝑎 − 18  

𝑎𝑎2 − 6𝑎𝑎 + 3𝑎𝑎 − 18  

𝑎𝑎(𝑎𝑎 − 6) + 3(𝑎𝑎 − 6) 

(𝑎𝑎 − 6) (𝑎𝑎 + 3) 
 

 

A fl;lj;jpw;F nghUj;jkhd tpilia B fl;lj;jpypUe;J njupT nra;J ,izf;Ff. 

 A       B 

𝑥𝑥2 − 7𝑥𝑥 + 10      (𝑥𝑥 + 5) (𝑥𝑥 − 2) 

𝑥𝑥2 + 3𝑥𝑥 − 10      (𝑥𝑥 + 5) (𝑥𝑥 − 4) 

𝑥𝑥2 + 3𝑥𝑥 − 40      (𝑥𝑥 − 7) (𝑥𝑥 − 3) 

𝑥𝑥2 + 𝑥𝑥 − 20       (𝑥𝑥 − 5) (𝑥𝑥 − 2) 

𝑥𝑥2 − 10𝑥𝑥 + 21      (𝑥𝑥 + 8) (𝑥𝑥 − 5) 

KjyhtJk;> filrp cWg;Gf;fspdJk;  

ngUf;fk;  

𝑥𝑥2 × (−12)  =  (-12𝑥𝑥2) 
-12𝑥𝑥2   = 6𝑥𝑥 × −2𝑥𝑥 
$l;Lj;njhif = 6𝑥𝑥 − 2𝑥𝑥  

= 4𝑥𝑥 MFk;. 
 

KjyhtJk;> filrp cWg;Gf;fspdJk;  

ngUf;fk;  

𝑎𝑎2 × (−18)  =  (-18𝑎𝑎2) 
ngUf;fk;   = (−6𝑎𝑎) × (3𝑎𝑎) 
$l;Lj;njhif = −6𝑎𝑎 + 3𝑎𝑎  

= −3𝑎𝑎 MFk;. 
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 ghlg;Gj;jfj;jpy; gapw;rp 7.1 gf;fk; 83>84 nra;J ghu;f;f. 

 

 7.2 %TWg;G ,Ugbf; Nfhitfspd; fhuzpfs; (NkYk;) 𝒂𝒂𝒙𝒙𝟐𝟐 + 𝒃𝒃𝒃𝒃 + 𝒄𝒄  vd;w tbtk;  

𝑥𝑥2 ,d;  Fzfk; a 

𝑥𝑥  ,d;  Fzfk; b 

𝑥𝑥0 ,d;  Fzfk; c 

 

cjhuzk; - 1 

      2𝑥𝑥2 + 7𝑥𝑥 + 6 

= 2𝑥𝑥2 + 4𝑥𝑥 + 3𝑥𝑥 + 6 

= 2𝑥𝑥(𝑥𝑥 + 2) + 3(𝑥𝑥 + 2) 

= (𝑥𝑥 + 2) (2𝑥𝑥 + 3) 

 

cjhuzk; - 2 

      6𝑥𝑥2 − 𝑥𝑥 − 15 

= 6𝑥𝑥2 + 9𝑥𝑥 − 10𝑥𝑥 − 15 

= 3𝑥𝑥(2𝑥𝑥 + 3) − 5(2𝑥𝑥 + 3) 

= (2𝑥𝑥 + 3) (3𝑥𝑥 − 5) 

 

cjhuzk; - 3 

      2𝑥𝑥2 − 13𝑥𝑥𝑥𝑥 − 7𝑦𝑦2 

= 2𝑥𝑥2 − 14𝑥𝑥𝑥𝑥 + 𝑥𝑥𝑥𝑥 − 7𝑦𝑦2 

= 2𝑥𝑥(𝑥𝑥 − 7𝑦𝑦) + 𝑦𝑦(𝑥𝑥 − 7𝑦𝑦) 

= (𝑥𝑥 − 7𝑦𝑦) (2𝑥𝑥 + 𝑦𝑦) 

 

,ilntsp epug;Gf. 

1.   2𝑥𝑥2 + 9𝑥𝑥 + 10     2.   3𝑥𝑥2 − 2𝑥𝑥 − 8 

= 2𝑥𝑥2 + 4𝑥𝑥 + ⋯+ 10    = 3𝑥𝑥2 − 6𝑥𝑥 + ⋯− 8 

= 2𝑥𝑥(… + 2) + 5(𝑥𝑥+. . . )   =. . . (𝑥𝑥 − 2)+. . . (𝑥𝑥 − 2) 

= (… + 2) (… . +5)    = (𝑥𝑥−. . . ) (3𝑥𝑥+. . . ) 

KjyhtJk;> filrp cWg;Gf;fspdJk;  

ngUf;fk;  

2𝑥𝑥2 × 6  =  12𝑥𝑥2 
12𝑥𝑥2   = 4𝑥𝑥 × 3𝑥𝑥 
$l;Lj;njhif = 4𝑥𝑥 + 3𝑥𝑥  

= 7𝑥𝑥  MFk;. 
 

KjyhtJk;> filrp cWg;Gf;fspdJk;  

ngUf;fk;  

6𝑥𝑥2 × −15  =  -90𝑥𝑥2 
-90𝑥𝑥2   = (-10𝑥𝑥)  × (+9𝑥𝑥) 
$l;Lj;njhif = −10𝑥𝑥 + 9𝑥𝑥  

= −𝑥𝑥  MFk;. 
 

KjyhtJk;> filrp cWg;Gf;fspdJk;  

ngUf;fk;  

2𝑥𝑥2 × −7𝑦𝑦2  =  -14𝑥𝑥2𝑦𝑦2 
-14𝑥𝑥2𝑦𝑦2  = (-14𝑥𝑥𝑥𝑥)  × (+𝑥𝑥𝑥𝑥) 
$l;Lj;njhif = −14𝑥𝑥𝑥𝑥 + 𝑥𝑥𝑥𝑥  

= −13𝑥𝑥𝑥𝑥  MFk;. 
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3.   7𝑥𝑥2 − 18𝑥𝑥 + 8     4.   5𝑥𝑥2 − 12𝑥𝑥𝑥𝑥 − 9𝑦𝑦2 

= 7𝑥𝑥2 − 14𝑥𝑥 − ⋯+ 8    = 5𝑥𝑥2 − 15𝑥𝑥𝑥𝑥+. . . −9𝑦𝑦2 

= 7𝑥𝑥(𝑥𝑥 − 2)−. . . (𝑥𝑥 − 2)    = 5𝑥𝑥(…− 3𝑦𝑦) + 3𝑦𝑦(𝑥𝑥 − 3𝑦𝑦) 

= (… … . ) (… … . )     = (𝑥𝑥 − 3𝑦𝑦)  (… . ) 

 ghlg;Gj;jfj;jpy; gapw;rp 7.2 gf;fk; 85 nra;J ghu;f;f. 

 

 7.3 ,U tu;f;fq;fspd; tpj;jpahrkhff; fhl;lg;gLk; Nfhitfspd; fhuzpfs;. 

• 𝑎𝑎2, 𝑏𝑏2 vDk; ,U cWg;Gf;fspd; tpj;jpahrk; 𝑎𝑎2 − 𝑏𝑏2 vd vOjg;gLk;. 

• 𝑎𝑎2, 𝑏𝑏2 ,d; fhuzpr;Nrhb (𝑎𝑎 − 𝑏𝑏) Ak; (𝑎𝑎 + 𝑏𝑏) Ak; MFk;. 

(𝑎𝑎2 − 𝑏𝑏2)  = (𝑎𝑎 + 𝑏𝑏) (𝑎𝑎 − 𝑏𝑏)  

cjhuzk;  

1. 𝑚𝑚2 − 𝑛𝑛2    2. 𝑎𝑎2 − 16   3. 2𝑥𝑥2 − 50 

 (𝑚𝑚 − 𝑛𝑛) (𝑚𝑚 + 𝑛𝑛)    𝑎𝑎2 − 42           2(𝑥𝑥2 − 25) 

      (𝑎𝑎 − 4) (𝑎𝑎 + 4)      2{(𝑥𝑥 − 5) (𝑥𝑥 + 5)} 

fPwpl;l ,lq;fis epug;Gf. 

1. 𝑥𝑥2 − 81       2. 9𝑥𝑥2 − 16𝑦𝑦2    

= 𝑥𝑥2 − …..        = (3𝑥𝑥)2 − (… )2           

= (𝑥𝑥 − 9) (𝑥𝑥 + 9)          = (3𝑥𝑥−. . . )(3𝑥𝑥+. . . ) 

    3. 50𝑥𝑥2 − 8𝑦𝑦2   

      =  2(25𝑥𝑥2 −⋯𝑦𝑦2) 

      =  2{(5𝑥𝑥)2 − (… )2} 

  =  2{(5𝑥𝑥−. . . ) (5𝑥𝑥+. . . )} 

 ghlg;Gj;jfj;jpy;  gapw;rp 7.3 gf;fk; 87 nra;J ghu;f;f. 
 

 

 

 

 

 

 

 

 

 

 7.4 ,U tu;f;fq;fspd; tpj;jpahrj;jpd; fhuzpfs; (NkYk;)  

cjhuzk;  

1. (𝑎𝑎 + 2)2 − 𝑏𝑏2    2. (𝑦𝑦 + 2)2 − 25   

 {(𝑎𝑎 + 2) − 𝑏𝑏}{(𝑎𝑎 + 2) + 𝑏𝑏}    {(𝑦𝑦 + 2) − 5}   {(𝑦𝑦 + 2) + 5}           

 (𝑎𝑎 + 2 − 𝑏𝑏) (𝑎𝑎 + 2 + 𝑏𝑏)       (𝑦𝑦 + 2 − 5) (𝑦𝑦 + 2 + 5) 

           (𝑦𝑦 − 3) (𝑦𝑦 + 7) 
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,ilntsp epug;Gf. 

1. (𝑚𝑚 + 2)2 − 𝑛𝑛2     2. (2𝑥𝑥 + 1)2 − 9  

   {(𝑚𝑚 + 2)−. . . } {(𝑚𝑚 + 2)+. . . }      (2𝑥𝑥 + 1)2 − 32  

 (𝑚𝑚 + 2 − 𝑛𝑛) (𝑚𝑚 + 2+. . . )     {(2𝑥𝑥 + 1) − 3}   {(2𝑥𝑥 + 1)+. . . }           

               (2𝑥𝑥 + 1 − 3) (2𝑥𝑥 + 1+. . . ) 

               (2𝑥𝑥−. . . ) (2𝑥𝑥+. . . ) 

 

 ghlg;Gj;jfj;jpy;  gapw;rp 7.4 gf;fk; 88 nra;J ghu;f;f. 

 

𝒂𝒂𝟐𝟐 − 𝒃𝒃𝟐𝟐  = (𝒂𝒂 − 𝒃𝒃) (𝒂𝒂 + 𝒃𝒃) 

𝒂𝒂𝟐𝟐 + 𝒃𝒃𝟐𝟐  = tpuptpy;iy 

𝒂𝒂𝟐𝟐 + 𝟐𝟐𝟐𝟐𝟐𝟐 + 𝒃𝒃𝟐𝟐 =  (𝒂𝒂 + 𝒃𝒃)𝟐𝟐 

𝒂𝒂𝟐𝟐 − 𝟐𝟐𝟐𝟐𝟐𝟐 + 𝒃𝒃𝟐𝟐 =  (𝒂𝒂 − 𝒃𝒃)𝟐𝟐 

 


